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1.

INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 ltems. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
thecircle.

Use black/blue point pen to darken the circle.

See the followingillustration.

Illustration:

1.Thesumof20and 12is

(@32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

110 ® © 0

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked asincorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark.

Use of calculator/mobile/any electronic item/objection
material is NOT permitted.

Controller of Examinations

FTAT e &Y [ 3ref fasig gl #i feafa 9 sidit @4 997 &t Sifad 7T g

Please note that in case of any confusion, the question printed in English may be considered final.




Fr=fofaa A ve - sifvar &t 9 s 1.  Infective stage of Entamoeba
2 histolytica is:

(a) Trophozoite
(b) Precystic form

C) Metacystic form
e D) Quadrinucleate form

TARAREA T TN TR s B 2. The most dangerous species of
' Plasmodium is:

(a) Malarae

(b) Falciparum

(c) Ovale
(d) Vivax
BIEET WG N A8 A A A Dl
A A ST S 2 3.  The middle layer in body wall of Hydra
is known as:

(a) Mesoderm

S _— (b) Gastrodermis
(c) Glandulomuscular layer

(d) Mesoglea

............................ ¥ 9w S @
4. Syncytial epidermis is present in:
(a) Housefly
(b) Obelia
(c) Metaphire
(d) Ascaris
M H IR REARNT T o HR
_ 5. The role of Typhlosole in earthworm
%) W R T @ e s :
q) S : (a) Control flow of blood
) 9= fhar & R 2=ew ST (b) Emulsify fat
h (c) Produce digestive enzymes
T) 2 ol 3 N e (d) Increase absorption area
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Internal shell is present in:
(a) Ur.1io

(b) Dentalium

(c) Chiton

(d) loligo

Pigeon milk is secreted by:

(a) Uropygeal gland

(b) Crop gland of male & female
(¢) Crop gland of male only

(d) Mammary gland of pigeon

Cervical vertebrae of birds is:
(a) Acoelous

(b) Procoelous

(c) Heterocoelous

(d) Opisthocoelous

Substrate combine more rapidly with
enzyme when:

(a) Kmis high
(b) Km is low
(c) Kiis high
(d) Kiislow

Succus entericus is:

(a) Swollen area between ileum and
rectum

(b) Intestinal juices

(c) Any swelling in the gut

(d) Vermiform appendix



11. Red pulp and white pulp are the
histological structure found in:

A) Tooth
B) Spleen
C) Bone

D) Skeletal muscle

12. Fermentation chamber of herbivorous
is

A) Caecum
B) liver
C) Gall bladder

D) Pancreas

13.  Chloride shift is essential for transport
of:
A)CO, & O,
B) N,
C) CO,
D) O,

14. Oxygen content of air we exhale is :
A) 40%
B) 20%
C) 25%
D) 16%

15. In Kreb’s cycle, FAD is the electron
acceptor during the conversion of:

A) Succinyl CoA to succinic acid
B) Alpha Ketoglutrate to Succinyl CoA
C) Fumaric acid to Malic acid

D) Succinic acid to Fumaric acid
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19.

20.

Which one of the following is called
“bad cholesterol”.

A) LDL

B) VLDL

C) HDL

D) Chylomicrons

What is energy yield per carbon atom
in the B-oxidation of fatty acids:

A) 147 ATP
B) 6 ATP
C) 38 ATP
D) 8 ATP

Bee wax is a combination of:

A) Glycerol and palmitic acid

B) Glycerol and stearic acid

C) Mericyl alcohol and stearic acid

D) Mericyl alcohol and palmitic acid

Which of the following is smallest
known protein

A) TSH-RF
B) Angiotensin |
C) Oxytocin

D) Vessopressin

Insect eggs are:
A) Homolecithal
B) Meiolecithal
C) Telolecithal
D) Centrolecithal



AGH BT SAEEAT oo YR H B B 21. The blastula of frog is called

(=) Aerga A) Coeloblas}ula

(@) Rerismrgan B) Discoblastula

(1) wolewaT C) Placula

() Tt sAREeN D) Superficial blastula

qfer ¥ 3iT| @ Fi 2 22. In birds allantois helps in:
(%) Ieae A) Excretion

(@) T B) Respiration

(1) Qo L C) Nutrition

(1) = D) Protection
T, W, XN TE T I 23. Cow, sheep and deer have
— m e type of placenta
() wrRa A) Diffuse

(@) TR B) Cotyledons

(1) C) Zonary

(47) T D) Discoidal
7 T ¥ v 2 24. Notochord is formed from embryonic:

A) Mesoderm
B) Ectoderm
C) Endoderm
D) All of these

25. Urn Shaped structure indicates ..........

type of population.
(%) & A) Expanding
(w) e B) Stationary
(1) e C) Decline
(3) ST & D) All the above
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26.7 ' Burning of fossil fuels is the main

27.

28.

29.

30. Molecular Scissors are:

cause of ............... emission.
A) Nitrogen Oxide

B) Nitrous Oxide

C) Nitric Oxide

D) Sulphur Dioxide

The ears of mammals living in cold
area were smaller in size than the

one living in a warm area is an
example of :

A) Gloger's rule
B) Jordan rule

C) Allen rule

D) Bergmans rule

Specific biomolecules which show
easily detectable differences among
different strains of a species or among
different species is termed as:

A) DNA Finger printing
B) Molecular Marker

C) Molecular Scissors
D) RFLP

A) DNA sequencing based method
B) Restriction digestion based method ‘
C) PCR based method
D) All of the above

A) Ligase
B) Exonuclease
C) Polymerase

D) Restriction endonuclease
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Lamda phage Vector has ............. type
of DNA °

A) Circular

B) Double stranded & Linear
C) Single stranded

D) Single stranded and circular

Bacterial Artificial Chromosome (BAC)
vectors can accommodate upto
......................... of foreign DNA.

A) 45 Kb in length

B) 300-350 Kb in length
C) 1Mb in length

D) All the above

Foreign DNA binding to Vector DNA in
genetic Engineering is called as:

A) Complementary DNA
B) Passenger DNA

C) Transposon DNA

D) Vehicle DNA

The first genome of a living organism
sequenced in 1995 was:

A) Homosapiens

B) Drosophila

C) Haemophilus influenza
D) E. coli

Thorough analysis of all expressed *
genes is also known as ..........
analysis.

A) Transcriptome
B) Translational
C) Structural

D) Comparative



36. DNA I S & s 2

(%) v 36. DNAvaccine is the ...............
(@) e generation vaccine.
() wq A) First
(ar) =g B) Second
C) Third
37. o FARHEAr & TENE e . BT D) Forth
-(:;) DNA &1 37. I:ﬁz(r;i:que of inactivation of genes is
=) W o A) DNA Quenang
() e e B) Splicing
() S e = C) Gene Knockout

D) Gene Knock in
38, TrEeE welist woSel i AFP S &

w2 38. Transgenic Flounder fish with AFP
() waEr 9t geneis..............
(@) A iR A) High yielding
() ¥ gRrER B) Disease resistant
(o) e gRrR C) Pest resistant
D) Cold resistant
39. TN T ST o & o’ B 2
() woR ST 39. Shagreenis used as :
() vR 3k = o T & R A) Fish food
- B) Abrasive for polishing wood and
lvory
() e e C) Court plaster
(%) o @ & * D) As fish manure
s
40.  Ryow IR B W W AR 2 40. Varroa jacobsoni is a parasite of:
(%) weprera A) Honey bee
(@) W He B) Silk Moth
(1) AR HE C) Lac Insect
(&) <wé D) Ants

10.
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Crop rotation is the........... ..... Method
of insect control.

A) Physical Method

B) Chemical Method
C) Mechanical Method
D) Cultural Method

When chromosomal threads fibrils are
easily separable from their coils, such
coils are known as:

A) Plectonemic coils
B) Paranemic coils
C) Somatic coils

D) Minor coils

Which of the following meiotic phases
is the longest and most significant at
all?

A) Prophase-|
B) Prophase-ll
C) Metaphse-|
D) Anaphase-|

44. The synptonemal complexes first

appear during :
A) Leptotene
B) Zygotene
C) Pachytene
D) Diplotene

Which of the following is aneuploidy
where chromosomes are present in
set of (2n-1-1) ?

A) Nullisomic

B) Tetrasomic

C) Monosomic

D) Double monosomics
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Which of the following is present in
maximum percentage in
chromosomes

A) NHC Proteins
B) DNA

C) RNA

D) Histone proteins

Replication of DNA takes place during'
which phase of mitotic cycle

A) Prophase
B) Telophase
C) Metaphase
D) Interphase

The enzyme required for joining of
Okazzaki pieces during DNA
replication is

A) DNA Polymerase-lli
B) Polynucleotide ligase
C) Endonuclease

D) None of these

Male pattern of Baldness is a

A) Sex linked

B) Sex Limited
C) Sex influenced
D) Y Linked

K- T Mass extinction occurred
about............ million years ago.

A) 66 mya

B) 201 mya
C) 252 mya
D) 450 mya
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................ Js Fundamental cause of
Evolution.

A) Natural Selection
B) Population

C) Variation

D) Speciation

Group of reptiles which is considered
as “Ancestors of the Birds” is:

A) Archocsuria
B) Saurischia
C) Ornithischia
D) Synapsida

................ Era is known as “ ERA OF
ANCIENT LIFE”

A) Proterozoic
B) Palaeozoic
C) Mesozoic
D) Coenozoic

.......................... Method applied for
determing the absolute age of fossils.

A) Carbon dating

B) Amino acid racemisation method
C) Potassium argon method

D) All of above

Who wrote the book ” Genetics and
Origin of the Species”

A) A.l. Oparin

B) Theodosius Dobzhansky
C) Joseph Hooker

D) Charles Darwin
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.................... connecting link between
annelids and molluscs.

A) Neoplina
B) Peripatus
C) Limulus

D) Periplaneta

QRS related to:

A) Ventricular contraction
B) Auricular contraction
C) Cardiac cycle

D) Auricular relaxation

Total filtrate formed in 24 hours in
human kidney is:

A) 1.8 litre
B) 8.0 litres
C) 18 litres
D) 180 litres

Corpus spongeosum is found in:
A) Ovary

B) Penis

C) Testis

D) Uterine

Which of the following antibody
concerned with allergic reaction

A) IgE
B) IgA
C)IgG
D) IgM



